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® 30+40



@ 330a=3.3ha
® 540000 m? = 54 ha

B 1.7km?2 = 17000 a,

@ 20ha = 0.2km?

@ 6.1ha = 6100m?
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D 8000g — 8kg

@ 0.4t =400kg
® 1300kg = 1.3t

@ 0.17¢
® 5630000 ¢ = 5630 ke
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13. =354

@ 404+5

@ 67.1 =22

%7 ofeh 0.2 sk Aol gl Re oln 2]

@ 51+6
B 475=5

3 464+ 32



14. o5 WAl oA fol 1H 2 A2 o= AAY7H?

Mo

® 042+6 ® 312+2 ® 054+5

@ 6.4=8 B 4.8 ~6



15.

&2 FRS 24 1] %01 A= g7 FA7E 9.6 kg O1AFH .
e FA7E 1.2kg 4 W, SR & B FAE R kg A
oA Gt off Attg stojof sh=A] AEAL.

ruz rE, I

D 96+24-1.2 @ 9.6+24+1.2

® 9.6-1.2+24 @ (9.6-1.2)+24

® (96+1.2)+24



